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Test 2

The length of the test is 1hr and 45min. You may use a nonprogrammable, nongraphing scientific
calculator. Remember to clearly show all of your work and to use correct notation. Do not use
decimals unless otherwise stated.

Question 1. (6 marks) James is releasing a new cologne "Jimmy Fresh". He will make x hun-
dred units available in the market when the unit price in the market is p = ITOEY &y dollars.
Determine the producer’s surplus if the market price is $31/unit. (You may used decimals).
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Question 2. (6 marks) In a study is was found that the Lorentz curve for the distribution of income
of paper salespeople is descrived by the function

N 4
flx)= 13x‘+ 13x
and that of beet farmers
16 , 1
g(x) = 1—7—x —l—ﬁx

Calculate the coefficient of inequality of each Lorenz curve and determine which professon has a
more equitable income distribution. (You may used decimals).
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‘Question 3. (10 marks) When winning the game show "Know Ya Boo" a couple is presented with
two options for prizes. If they choose option 1 they get an immediate payment of $4 000 and
then $100 per week for the next five years. If they choose option 2 they get an income ot

g(t) =2600 ¢

dollars (7 is in years) for the next five years, 0 <t < 5. Which option should they choose? (You

may used decimals).

VALLE ofF

2%0 04,37

e

ofnery L

i3

S.05

TETAL  PAOT koY oF

a2

OfF

,D\O{b 17(
'7\06
‘oo k o (j'o
) @4\ C
5107 ( Le/"o\lb/,; ,)
f)
L
0 1 _.D.?\{
/;}:QL‘:‘O ( } / /
L9
= I)\qg 6(60 qg

O@TloN  z.

¢

i Tl 1

'ﬁupao;ﬂ«a"“oséib

g
- f (Atoo Y (2D e7205¢) (¢

5 = <S'2«>(\oo»> (‘ _ e—»oxofc‘.;))

-

- 2F ood 37

LeT
U= 2eovot

du= 24 coo de

dv

i

L3004.3> + 5 DD

PR



Question 4. (4 marks) Use the method of partial fractions to write the following as a sum of
simpler fractions. You don’t have to solve for the variables A, B, C, ... etc.
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Question S. Evaluate the following integrals:

(a) (4 marks) / xcosxdx
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Question 6. (marks) Given that f/(1) = —1, /(#) = 2, f(1) = 0, and (@ =4, find
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